

Algorithms for Numerical Solving of 2D Anomalous Diffusion Problems

Natalia Abrashina-Zhadaeva and Natalie Romanova

Belarusian State University

4 Nezavisimosti ave., BY-220030 Minsk, Belarus

E-mail: Zhadaeva@bsu.by

E-mail(*corresp.*): Natalaromanova@yahoo.com

Received September 8, 2010; revised April 11, 2012; published online June 1, 2012

Abstract. Fractional analog of the reaction diffusion equation is used to model the subdiffusion process. Diffusion equation with fractional Riemann–Liouville operator is analyzed in this paper. We offer finite-difference methods that can be used to solve the initial-boundary value problems for some time-fractional order differential equations. Stability and convergence theorems are proved.

Keywords: subdiffusion process, fractional order differential equation.

AMS Subject Classification: 65N06; 65N12; 65Z05; 92C10; 92C05.

1 Introduction

Cell membrane is a complicated heterogeneous dynamic bio-structure that can be considered as fractal media. Here a lateral raft diffusion is not classic Brownian motion [7]. Such physical processes as the diffusion in the fractal media lead to various types of “anomalies” like jump (hop), fractional, sub- and superdiffusion. These processes are well described by the fractional order partial differential equations [14]. Time-space fractional diffusion equations extend the classical model, substituting fractional derivatives for their integer-order analog.

Some models of reversible reaction in subdiffusive regime are constructed using fractional reaction diffusion equation [4]

$$\partial_t u(x, t) = {}_0D_t^{1-\gamma} (k(x)\nabla^2 u(x, t)) + f(x, t), \quad 0 < \gamma < 1. \quad (1.1)$$

Physical interpretation was presented by [3, 4, 11, 20]. In this framework some authors investigated the front reaction in biomolecular reactions [7].

In papers [1, 15] authors suggested to use a well-known factorization method as a numerical method for solving the Dirichlet problem of anomalous diffusion equation. Estimation of fractional order shifted mixed derivatives was adapted,

in order to construct a factorization numerical model using the general theory of the finite difference schemes [16].

We also mention interesting applications of fractional time derivatives to formulate the exact and approximate discrete transparent boundary conditions for solution of Schrödinger type problems [5, 6].

In present paper we consider two approaches how to solve numerically the 2D fractional partial differential equations. These approaches are based on the construction of finite difference schemes and the application of Grunwald–Letnikov formula and L_1 -approximation for time fractional derivative. Analytical solution for considered problems can be obtained only for some special cases. Moreover, the number of the published papers, that are devoted to this theme, is limited. This fact is our motivation to investigate the modifications of multilayer difference schemes for this class of problems.

2 Statement of the Problem

In the present paper, we investigate numerical methods to solve initial-boundary value problems for equation (1.1).

Let us define continuous function $u(x, t)$ in cylinder $Q_T = \bar{G} \times [0 \leq t \leq T]$, where $\bar{G} = G \cup \Gamma$ is two dimensional domain with boundary Γ and $x = (x_1, x_2)$ satisfies the following equation

$$\frac{\partial u}{\partial t} = {}_0D_t^{1-\gamma} \left(\frac{\partial^2 u}{\partial x_1^2} + \frac{\partial^2 u}{\partial x_2^2} \right) + r(x, t), \quad x \in G, \quad t > 0, \quad (2.1)$$

and special conditions

$$u(x, 0) = u_0(x), \quad x \in \bar{G}, \quad u(x, t) = \mu(x, t), \quad x \in \Gamma, \quad t \geq 0. \quad (2.2)$$

Here ${}_0D_t^{1-\gamma}$ denotes the fractional Riemann–Liouville operator that is defined by

$${}_0D_t^{1-\gamma} v(t) = \frac{1}{\Gamma(\gamma)} \frac{\partial}{\partial t} \int_0^t \frac{v(s)}{(t-s)^\gamma} ds,$$

where $0 < \gamma < 1$ and $\Gamma(\cdot)$ is the Gamma function [9]. Let the problem (2.1), (2.2) has a unique and sufficiently smooth solution. Riemann–Liouville fractional derivative is considered in the class of a function, that is continuous across the segment $[0, T]$. Also, these functions have derivatives at this segment till $|\gamma|$ -order and exist almost everywhere [9, 12]. We assume that fractional γ -order derivative of the function $r(x, t)$ across the value t in initial time $t = 0$ exists. Here $r(x, t) = \frac{a(x)t^{\gamma-2}}{\Gamma(\gamma-1)}$ and $a(x)$ is given function at point x .

According to [10, 12, 13], we obtain

$${}_0D_t^{1-\gamma} \left[{}_0D_t^\gamma u(x, t) - \frac{u(x, 0)t^{-\gamma}}{\Gamma(1-\gamma)} \right] = {}_0D_t^{1-\gamma} \nabla^2 u(x, t).$$

Then the equivalent form of the equation (2.1) is

$${}_0D_t^\gamma u(x, t) - \frac{u(x, 0)t^{-\gamma}}{\Gamma(1-\gamma)} = Lu(x, t),$$

where $L = \sum_{m=1}^2 \partial^2 / \partial x_m^2$.

3 Difference Schemes

Let us introduce the discrete-time domain $\bar{w}_\tau = \{t_j = j\tau, j = 0, \dots, M; M\tau = T\}$ and the discrete-space domain $\bar{w}_h = \{x_i = (i_1 h_1, i_2 h_2), i_\alpha = 0, 1, \dots, N_\alpha, h_\alpha = l_\alpha/N_\alpha\}$. We use the following notation [16, 17]

$$y^{(\pm 1_\alpha)} = y(x_i^{(\pm 1_\alpha)}, t), \quad x^{\pm 1_\alpha} = x_\alpha^{1_\alpha} \pm h_\alpha, \quad x_\alpha^{i_\alpha} = h_\alpha i_\alpha, \quad \alpha = \overline{1, 2},$$

here y is the value of the function $y(x, t)$ in the fixed node $x = (i_1 h_1, i_2 h_2)$. For numerical approximation of Lu we use the second difference derivative along any space direction

$$Lu = \sum_{\alpha=1}^2 \Lambda_\alpha u, \Lambda_\alpha u = u_{\bar{x}_\alpha x_\alpha} = \frac{u^{(+1_\alpha)} - 2u + u^{(-1_\alpha)}}{h_\alpha^2} + O(h_\alpha^2) \sim \frac{\partial^2 u}{\partial x_\alpha^2}(x, t_j). \tag{3.1}$$

Time-derivative is approximated by the finite difference operator that is obtained from the Grunwald–Letnikov formula and L_1 -approximation [9, 10]. Therefore we have

$${}_0D_t^\gamma u(x, t_j) - \frac{u(x, 0)t_j^{-\gamma}}{\Gamma(1-\gamma)} \sim u_t^{(\gamma)} + O(\tau), \tag{3.2}$$

$${}_0D_t^\gamma u(x, t_j) - \frac{u(x, 0)t_j^{-\gamma}}{\Gamma(1-\gamma)} \sim \tilde{u}_t^{(\gamma)} + O(\tau^{2-\gamma}), \tag{3.3}$$

where

$$u_t^{(\gamma)} = \tau^{-\gamma} \sum_{k=0}^j g_{\gamma,k} [u^{j-k} - u^0], \quad g_{\gamma,k} = (-1)^k \binom{\gamma}{k},$$

$$\tilde{u}_t^{(\gamma)} = \frac{\tau^{-\gamma}}{\Gamma(2-\gamma)} \left[u^j - \sum_{k=1}^{j-1} (a_{\gamma,j-k-1} - a_{\gamma,j-k}) u^k - a_{\gamma,j-1} u^0 \right],$$

$$a_{\gamma,k} = (k+1)^{1-\gamma} - k^{1-\gamma}.$$

Modified difference schemes on the basis of the approximations (3.1) and (3.2) have the following form

$$y_t^\gamma = \Lambda(\sigma y^j + (1-\sigma)y^{j-1}), \tag{3.4}$$

$$y^0 = u_0(x), \quad x \in \bar{w}_h, \tag{3.5}$$

$$y^j|_{\gamma^*} = \mu(x, t), \quad x \in \gamma^*, \quad t \geq 0 \tag{3.6}$$

and on the basis of the approximations (3.1) and (3.3)

$$\tilde{y}_t^\gamma = \Lambda(\sigma y^j + (1-\sigma)y^{j-1}), \tag{3.7}$$

$$y^0 = u_0(x), \quad x \in \bar{w}_h, \tag{3.8}$$

$$y^j|_{\gamma^*} = \mu(x, t), \quad x \in \gamma^*, \quad t \geq 0. \tag{3.9}$$

Here γ^* is a set of the nodes that belong to $\Gamma, 0 \leq \sigma \leq 1$.

4 Consistency and Stability

The conditional stability of the explicit scheme (3.4)–(3.6) as $0 \leq \sigma < 1$ is obtained in [2] and the following theorem holds:

Theorem 1. *Suppose that the condition $\tau^\gamma \leq \frac{\gamma}{2(1-\sigma)} [\sum_{\alpha=1}^2 h_\alpha^{-2}]^{-1}$ is valid, then the finite-difference scheme (3.4)–(3.6) is stable.*

The stability and consistency of the difference scheme are proved in [18] for (3.7)–(3.9) as $0 < \sigma < 1$. This proof is based on the maximum principle and the realization of the following condition

$$\tau^\gamma < \frac{2 - 2^{1-\gamma}}{2\Gamma(2-\gamma)(1-\gamma)} \left(\sum_{k=1}^2 \frac{1}{h_k^2} \right)^{-1}.$$

For difference functions we define the scalar product and the norm in the following way

$$(v, w) = \sum_{x \in w_h} v(x)w(x)h_1h_2, \quad \|v\| = \sqrt{(v, v)}.$$

According to [16], we have

$$(\Lambda_\alpha z, z) = -(z_{\bar{x}_\alpha}, z_{\bar{x}_\alpha})_\alpha.$$

where $z = 0$ as $x \in \gamma_h^*$ and

$$\begin{aligned} \sum_{i_1=1}^{N_1} \sum_{i_2=1}^{N_2-1} v(i_1h_1, i_2h_2)w(i_1h_1, i_2h_2)h_1h_2 &:= (v, w)_1, \\ \sum_{i_1=1}^{N_1-1} \sum_{i_2=1}^{N_2} v(i_1h_1, i_2h_2)w(i_1h_1, i_2h_2)h_1h_2 &:= (v, w)_2. \end{aligned}$$

Lemma 1. *The implicit scheme (3.4)–(3.6) is unconditionally stable for $\sigma = 1$.*

Proof. Let ρ^0 is a perturbation solution. Then the corresponding error of (3.4) as $\sigma = 1$ is defined by the following equation

$$\tau^{-\gamma} \left[\rho^j + \sum_{k=1}^{j-1} g_{\gamma,k} \rho^{j-k} - \sum_{k=0}^{j-1} g_{\gamma,k} \rho^0 \right] = \Lambda \rho^j.$$

Here $i_1 = 1, 2, \dots, N_1 - 1$, $i_2 = 1, 2, \dots, N_2 - 1$ and $\rho^j|_{\gamma_h^*} = 0$ for all $j \in N$. Multiplying (4.1) by $\tau^\gamma h_1 h_2 \rho^j$ and summing over $i_1 = \overline{1, N_1 - 1}$, $i_2 = \overline{1, N_2 - 1}$, we have

$$\|\rho^j\|^2 = - \left(\sum_{k=1}^{j-1} g_{\gamma,k} \rho^{j-k}, \rho^j \right) + \left(\sum_{k=0}^{j-1} g_{\gamma,k} \rho^0, \rho^j \right) + \tau^\gamma (\Lambda \rho^j, \rho^j). \quad (4.1)$$

We remind some important properties of binomial coefficients [2, 8, 9]

$$\begin{aligned}
 g_{\gamma,k} &= \left(1 - \frac{1+\gamma}{k}\right)g_{\gamma,k-1}, \quad g_{\gamma,0} = 1, \quad g_{\gamma,1} = -\gamma, \\
 g_{\gamma,2} &= \frac{\gamma(\gamma-1)}{2!}, \quad g_{\gamma,3} = -\frac{\gamma(\gamma-1)(\gamma-2)}{3!}, \quad \sum_{k=0}^{+\infty} g_{\gamma,k} = 0, \\
 \text{as } k &= 1, 2, \dots, \quad g_{\gamma,k} < 0, \quad \sum_{k=0}^{j-1} g_{\gamma,k} > 0, \quad (0 < \gamma < 1).
 \end{aligned}$$

They give us the following estimates according to (4.1)

$$\begin{aligned}
 -\left(\sum_{k=1}^{j-1} g_{\gamma,k} \rho^{j-k}, \rho^j\right) &\leq -\frac{1}{2} \sum_{k=1}^{j-1} g_{\gamma,k} \|\rho^{j-k}\|^2 - \frac{1}{2} \sum_{k=1}^{j-1} g_{\gamma,k} \|\rho^j\|^2, \\
 \left(\sum_{k=0}^{j-1} g_{\gamma,k} \rho^0, \rho^j\right) &\leq \frac{1}{2} \sum_{k=0}^{j-1} g_{\gamma,k} (\|\rho^0\|^2 + \|\rho^j\|^2), \\
 \tau^\gamma (\Lambda \rho^j, \rho^j) &= -\tau^\gamma \sum_{\alpha=1}^2 \|\rho^j_{\bar{x}_\alpha}\|_\alpha^2 \leq -\tau^\gamma \left(\frac{8}{l_1^2} + \frac{8}{l_2^2}\right) \|\rho^j\|^2 \leq 0. \quad (4.2)
 \end{aligned}$$

Using the obtained estimates, (4.1) and (4.2), we have

$$\|\rho^j\|^2 \leq \sum_{k=0}^{j-1} g_{\gamma,k} \|\rho^0\|^2 - \sum_{k=1}^{j-1} g_{\gamma,k} \|\rho^{j-k}\|^2.$$

Let $j = 1$ and $\|\rho^1\|^2 \leq \|\rho^0\|^2$. Then according to mathematical induction the estimate

$$\|\rho^j\|^2 \leq \sum_{k=0}^{j-1} g_{\gamma,k} \|\rho^0\|^2 - \sum_{k=1}^{j-1} g_{\gamma,k} \|\rho^{j-k}\|^2 \leq \sum_{k=0}^{j-1} g_{\gamma,k} \|\rho^0\|^2 - \sum_{k=1}^{j-1} g_{\gamma,k} \|\rho^0\|^2$$

is valid. Thus we obtain $\|\rho^j\|^2 \leq \|\rho^0\|^2, \forall j \in N$. \square

Theorem 2. *The scheme (3.4)–(3.6) approximates the problem (2.1) and (2.2), it is stable and the following accuracy estimate is valid:*

$$\|z(x^j)\| = \|u(x, t_j) - y(x, t_j)\| \leq M(\tau + h_1^2 + h_2^2), \quad M > 0.$$

Proof. We get the expression that is similar to (4.2). Moreover, this expression contains $\tau^\gamma(\psi^j, z^j), |\psi^j| \leq M_1(\tau + \sum_{\alpha=1}^2 h_\alpha^2)$ where $M_1 > 0$ is constant. To estimate the obtained equality we use ε -inequality in the following form

$$\tau^\gamma(\psi^j, z^j) \leq \frac{1}{4\varepsilon} \tau^\gamma \|\psi^j\|^2 + \varepsilon \tau^\gamma z^j.$$

Let $\varepsilon = (-\sum_{k=j}^\infty g_{\gamma,k})(2\tau^\gamma)^{-1}$. Then according to the inequality [18]

$$-\sum_{k=j}^\infty g_{\gamma,k} > \frac{1}{j^\gamma \Gamma(1-\gamma)},$$

we can define

$$\begin{aligned} \frac{1}{4\varepsilon} \tau^\gamma \|\psi^j\|^2 &= \frac{\tau^{2\gamma}}{-2 \sum_{k=j}^\infty g_{\gamma,k}} \|\psi^j\|^2 \leq \frac{\tau^{2\gamma} j^\gamma \Gamma(1-\gamma)}{2} \|\psi^j\|^2 \\ &\leq \frac{T^\gamma \tau^\gamma \Gamma(1-\gamma)}{2} l_1 l_2 M_1 \left(\tau + \sum_{\alpha=1}^2 h_\alpha \right)^2 = \frac{M_2}{2} \tau^\gamma \left(\tau + \sum_{\alpha=1}^2 h_\alpha^2 \right)^2, \quad (4.3) \\ \varepsilon \tau^\gamma \|z^j\|^2 &= \frac{-\sum_{k=j}^\infty g_{\gamma,k}}{2} \|z^j\|^2. \end{aligned}$$

Thus we obtain the estimate

$$\|z^j\|^2 \leq -\sum_{k=1}^{j-1} g_{\gamma,k} \|z^{j-k}\|^2 + M_2 \tau^\gamma \left(\tau + \sum_{\alpha=1}^2 h_\alpha^2 \right)^2. \quad (4.4)$$

By (4.4), we get that $\sum_{k=0}^{j-1} g_{\gamma,k} = -\sum_{k=j}^\infty g_{\gamma,k}$, and the mathematical induction proves that

$$\|z^j\|^2 \leq M_2 \left(-\sum_{k=j}^\infty g_{\gamma,k} \right)^{-1} \tau^\gamma \left(\tau + \sum_{\alpha=1}^2 h_\alpha^2 \right)^2, \quad \forall j \in N.$$

Using the estimates (4.3), (4.4), we get

$$\begin{aligned} \|z^j\|^2 &\leq M_2 j^\gamma \Gamma(1-\gamma) \tau^\gamma \left(\tau + \sum_{\alpha=1}^2 h_\alpha \right)^2 \leq C_2 T^\gamma \Gamma(1-\gamma) \left(\tau + \sum_{\alpha=1}^2 h_\alpha^2 \right)^2 \\ &= M^2 \left(\tau + \sum_{\alpha=1}^2 h_\alpha^2 \right)^2. \end{aligned}$$

The theorem is proved. \square

In analogous way we can prove the following theorem:

Theorem 3. *Difference scheme (3.7)–(3.9) is stable under the initial data in the norm $\|\cdot\| = \sqrt{(\cdot, \cdot)}$ and for the solution of this scheme the following estimate*

$$\|z^j\| \leq M \left(\tau^{2-\gamma} + \sum_{\alpha=1}^2 h_\alpha^2 \right), \quad M > 0 \quad (4.5)$$

is satisfied for $\sigma = 1$.

Proof. We limit the proof of Theorem 3 to the part, that includes the essential addition to Theorem 2. Multiplying the perturbed solution of (3.7), (3.9) by $\tau^\gamma \Gamma(2-\gamma) = A$ we get the following equation

$$(\rho^j, \rho^j) = \left(\sum_{k=1}^{j-1} (a_{\gamma,j-k-1} - a_{\gamma,j-k}) \rho^k, \rho^j \right) + a_{\gamma,j-1} (\rho^0, \rho^j) + A(\Lambda \rho^j, \rho^j).$$

Since $a_{\gamma,m} > a_{\gamma,m+1}$ ($m = 0, 1, \dots$), it follows that

$$\begin{aligned} & \left(\sum_{k=1}^{j-1} (a_{\gamma,j-k-1} - a_{\gamma,j-k}) \rho^k, \rho^j \right) \\ & \leq \frac{1}{2} \sum_{k=1}^{j-1} (a_{\gamma,j-k-1} - a_{\gamma,j-k}) \|\rho^k\|^2 + \frac{1}{2} \sum_{k=1}^{j-1} (a_{\gamma,j-k-1} - a_{\gamma,j-k}) \|\rho^j\|^2 \\ & = \frac{1}{2} \sum_{k=1}^{j-1} (a_{\gamma,j-k-1} - a_{\gamma,j-k}) \|\rho^k\|^2 + \frac{1}{2} (a_{\gamma,0} - a_{\gamma,j-1}) \|\rho^j\|^2, \\ & a_{\gamma,j-1} (\rho^0, \rho^j) \leq \frac{1}{2} a_{\gamma,j-1} (\|\rho^0\|^2 + \|\rho^j\|^2). \end{aligned}$$

We obviously have $\|\rho^1\|^2 \leq \|\rho^0\|^2$ at $j = 0$. From here we obtain

$$\|\rho^{j+1}\|^2 \leq \sum_{k=1}^{j-1} (a_{\gamma,j-k-1} - a_{\gamma,j-k}) \|\rho^k\|^2 + a_{\gamma,j-1} \|\rho^0\|^2. \tag{4.6}$$

Using the recurrent calculus from (4.6), we get

$$\begin{aligned} \|\rho^{j+1}\|^2 & \leq \sum_{k=1}^{j-1} (a_{\gamma,j-k-1} - a_{\gamma,j-k}) \|\rho^k\|^2 + a_{\gamma,j-1} \|\rho^0\|^2 \\ & \leq \sum_{k=1}^{j-1} (a_{\gamma,j-k-1} - a_{\gamma,j-k}) \|\rho^0\|^2 + a_{\gamma,j-1} \|\rho^0\|^2 \\ & = (1 - a_{\gamma,j-1}) \|\rho^0\|^2 + a_{\gamma,j-1} \|\rho^0\|^2 = \|\rho^0\|^2. \end{aligned}$$

The theorem is proved. \square

The error of the observed method is defined by the following estimate

$$\|z^j\|^2 \leq a_{\gamma,j-1}^{-1} M_2 T^\gamma (\tau^{2-\gamma} + h^2)^2, \quad \forall j \in N,$$

where M_2 is constant. Since $a_{\gamma,j-1} > \frac{1-\gamma}{(j)^\gamma}, \forall j \in N$, we see that

$$\|z^j\|^2 \leq \frac{M_2 T^\gamma}{1-\gamma} (\tau^{2-\gamma} + h^2)^2.$$

Using $M = (M_2 T^\gamma / (1-\gamma))^{\frac{1}{2}}$, we obtain the estimate (4.5).

Remark. In the case when the approximation has the second order with respect to spatial variables, coefficients $k_\alpha(x) \neq const$ and the convection term $-{}_0D_t^{1-\gamma} (\sum_{\alpha=1}^2 v_\alpha(x) \frac{\partial u}{\partial x_\alpha})$ is presented in the model, all obtained results are still valid. Modified schemes (3.4)–(3.6), (3.7)–(3.9) are closely related to n -layer finite-difference schemes [16] and its solution can be expressed via the solution of the system of equations, that contain the operator matrix $(c_{ij}) = c$. The size of this matrix is $m \times m$, ($m = 1$). Therefore, using the concept of compound schemes with m period, we can construct a local additive scheme for the considered class of problems [16]. These FDS allow us to take into account the memory effect of the considered system [19].

Acknowledgments

The authors are very grateful to professor Vladimir Uchaikin (Ulyanovsk State University) and professor Mark Meerschaert (Michigan State University) for encouragement and invaluable assistance in our research.

References

- [1] N. Abrashina-Zhadaeva and N. Romanova. Stable numerical model to investigation of anomalous diffusion. In *Proceed. of Intern. Conf. Intern. Conf. Differ. Equat. and Their Appl.*, pp. 6–14, Kaunas, 2009. Technologija.
- [2] N.G. Abrashina-Zhadaeva and N.S. Romanova. A splitting type algorithm for numerical solution of pdes of fractional order. *Math. Model. Anal.*, **12**(4):399–408, 2007. <http://dx.doi.org/10.3846/1392-6292.2007.12.399-408>.
- [3] B. Baeumer, S. Kurita and M.M. Meerschaert. Inhomogeneous fractional diffusion equations. *Fract. Calc. Appl. Anal.*, **8**(4):371–386, 2005.
- [4] K. Burrage, J. Hancock, A. Leier and D.V. Nicolau Jr. Modelling and simulation techniques for membrane biology. *Brief. Bioinform.*, **8**(4):234–244, 2007. <http://dx.doi.org/10.1093/bib/bbm033>.
- [5] R. Čiegis, I. Laukaitytė and M. Radziunas. Numerical algorithms for schrödinger equations with absorbing boundary conditions. *Non-linear Functional Analysis and Optimization*, **30**(9-10):903–923, 2009. <http://dx.doi.org/dx.doi.org/10.1080/01630560903393097>.
- [6] R. Čiegis and M. Radziunas. Effective numerical integration of traveling wave model for edge-emitting broad-area semiconductor lasers and amplifiers. *Math. Model. Anal.*, **15**(4):409–430, 2010. <http://dx.doi.org/10.3846/1392-6292.2010.15.409-430>.
- [7] T. Fujiwara, K. Ritchie, H. Murakoshi, K. Jacobson and A. Kusumi. Phospholipids undergo hop diffusion in compartmentalized cell membrane. *J. Cell Biology*, **157**(6):1071–1081, 2002. <http://dx.doi.org/10.1083/jcb.200202050>.
- [8] R. Gorenflo, F. Mainardi, D. Moretti, G. Pagnini and P. Paradisi. Discrete random walk models for space-time fractional diffusion. *Chem. Phys.*, **284**(1/2):521–541, 2002. [http://dx.doi.org/10.1016/S0301-0104\(02\)00714-0](http://dx.doi.org/10.1016/S0301-0104(02)00714-0).
- [9] A.A. Kilbas, J.J. Trujillo and A.A. Voroshilov. Cauchy-type problem for diffusion-wave equation with the Riemann–Liouville fractional derivative. *Fract. Calc. Appl. Anal.*, **8**(4):403–430, 2005.
- [10] T.A.M. Langlands and B.I. Henry. The accuracy and stability of an implicit solution method for the fractional diffusion equation. *J. Comput. Phys.*, **205**:719–736, 2005. <http://dx.doi.org/10.1016/j.jcp.2004.11.025>.
- [11] R. Metzler and J. Klafter. The fractional Fokker–Planck equation, dispersive transport in an external field. *J. Mol. Liq.*, **86**:219–228, 2000. [http://dx.doi.org/10.1016/S0167-7322\(99\)00143-9](http://dx.doi.org/10.1016/S0167-7322(99)00143-9).
- [12] V.A. Nahusheva. *Differential Equations of the Mathematical Models of the Non-local Processes*. Nauka, Moscow, 2006. 173 pp.
- [13] I. Podlubny. *Fractional Differential Equations*. Academic Press, New York, 1999.

- [14] N. Romanova. Modelling of cell membrane processes on the basis of fractional differential equations. In *6th International Conference on Levy Processes: Theory and Applications*, TU Dresden, Germany, 26.07.2010–30.07.2010.
- [15] N.S. Romanova. Divectorization decomposition model in scientific and applied problems. *J. Works of BSTU. Ser. 6*, **15**:28–32, 2007. (in Russian)
- [16] A.A. Samarskii. *Introduction in the Difference Scheme Theory*. Nauka, Moscow, 1973.
- [17] A.A. Samarskii and A.V. Gulin. *Stability of Difference Scheme*. Nauka, Moscow, 1973. 432 p.
- [18] F. Taukenova and M. Shhanukov-Lafishev. Difference methods of the solution of the value problems for fractional differential equations. *J. Comput. Math. Math. Physics*, **46**(10):1871–1881, 2006.
- [19] V.V. Uchaikin. Avtomodel anomalous diffusion and stability law. *UFN*, **173**(8):847–876, 2003. <http://dx.doi.org/UFNr.0173.200308c.0847>. (in Russian)
- [20] S.B. Yuste, L. Acedo and K. Lindenberg. Reaction front in an $A + B \rightarrow C$ reaction–subdiffusion process. *Phys. Rev. E*, **69**:036126–36136, 2004. <http://dx.doi.org/10.1103/PhysRevE.69.036126>.